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	Statement
	Your First Response
(Give reasons.)  
	Your Later Response
(Give reasons.) 

	1. Population increases more rapidly in the less-developed nations. 

	
	

	2. More-developed nations are countries in which there is no poverty. 


	
	

	3. Better technology can solve the problems of the less-developed nations. 


	
	

	4. Most of the more-developed nations have strong democratic institutions. 


	
	

	5. Urbanization, or the movement of people from rural areas to cities, is strongest in the more-developed nations. 
	
	

	6. There are no skyscrapers, modern communications systems, or industries in the less-developed countries.
	
	




